3.3.5

€Y
(a)
()
©)
(d)
(e) 15

@)) 15

(a)

(b)
Y]
2) Case2-1
3) Case2-2 Case2-3
4)

©)
1) Case2-1
2) Case2-2
3) Case2-3
4)

(d)

)

("

3) 16

-315-



@

(€))

(b)

(©)

d)
( 1)

2)

3)

- 316 -



(e)

(2)

(a)

1)

2)

3)

(b)

1)

8m>=<8m

-317 -

H14



8m>=<8m

300tf

Y:100tf Z:500tf

Y:=60cm Z:%+30cm

Y:#+200cm/s Z:%=50cm/s

Y:2000gal Z:1000gal

X | X | X |X]|X

Y:DC 50Hz Z:DC 50Hz

b)
4.0m ><1.0m ><2.0m

c)

50.8mm 1.5mm

11

-318 -



(5H2)

12.8kN/m2

El

00
b ——&-
@L,TL@V

2@128=256

952=8¢10¢

/\ 00¢€ ST \

0067

/w;..
2, . N D P ,_ |
V\ ozz oot | o8 | oot 006=08105 _ _
w - — S ——
| \* _ L

-319-

d)



2) Case2-1

3x3
Dr=90%

850mm

H14
33cm

5cm

Dr=35%

1.7mm

3) Case2-2 Case2-3

Cas2-2 Case2-3
Case2-2

21.6kg
14Hz

90cm

50cm
6mm
2mm
H14
90cm
90cm
Dr=35%
20 50cm
40cm 2
Case2-1

-320 -



170kg
THz

Case2-3 Case2-2

-
S
L 1500 J’ 50 1750 J
] T T ’
(a)Casez2-1
-~
OO0 -
O O O §
O O O lot
A
-
- H
—%— g
g —
A |

(b)Case2-2 Case2-3
2

4)
2 3%<3

-321 - *ﬁ.FEﬁBEZf)D



Case
2-1
90cm
2-2 40cm 2.5D
35%
21.6kg
2-3
170kg
a)
b)
CD H14 5
c)
6 Case2-1 2-3 350gal
5Hz 20 Case2-2
t=2.5
20Hz

-322 -




000T !
0ov 006 7 005 7

7 7 SL oml 00£02 Tmm 00202
7 f |

. |'ﬂ = 2
T LomN m m

A
o
O [ ] (w] » o I ., T T, —
| 0 E 5
002
il npolfg @& B8 ]
L opy -

I

. A 8|
|

ovp 7 7
__ " o0e 100z B o0 e =

00S 006

Case2-1
-323-



IEN dl
s q
2mm 5]
— -
4 5 2 CD
(a) Case2-1 2-3 &
g 500 :__ T I T T T __:
oF .
-500 - 1 | 1 | 1 | 1 ]
0 2 4 6 8
(b) Case2-2 <
= 500 ' I ' I ' L ' -
2 C ]
oF W I .
-500 - 1 | 1 | 1 | 1 .
0 2 4 “6 8
6
©)
1) Case2-1
i)
56mm
7 2

- 324 -



B e e

_________________
—ANMm

0 ~ 0
o —

(w)-19

—ANM

0 ~ 0
o —

(w)-19

_________________
—ANm

o

o - i}

S -9 -

20

10

-10

0.4 -20

0.2

200 400  -0.2
(1e)

-200 0

-400

(kPa)

(kN)

8

ii)

-325-



A

500

o
LI LR

-500 ! | | | 1

500 ' I ' I :

(gal)
o

-500 ! | ! I !

500 ' I ' I '

o
[TTTT[TITT]

-500 \ | ! I !

o
N
ESN
[op]

10 11 -1 -2

Case2-1

100%

-326 -

=
o

Dr=35%



1000 T I T T T I T B

0 ‘r/ e 20
- =0 |
-1000 1 | 1 | 1 | 1 ] 1 /Vin—
1000 ——————————— 15 e /|

T T
G'V0=9.3kPa

o
(kPa)
5
IIIIIIIIIIIIII

(gal)

5
W= 18

o
I
1
[E
g1 O
T[T T

-1000 1 ] 1 ] 1 ] 1 ] 1 0
1000 T T T T T T T T T 15

(=]
I
1
[
U1 O

o IIIIIIIIIIIIII

o

-1000 ! | ! | ! | ! | !

(=g T minm

10 -1

Lt
2]

¢

-

II 11 IIII IIIII!IIIII

0'\0=11.9KPa

™

1000 T I T I T I T I T 15
10

T T ' T T T
o'v=16.2kPa

paN

KR
o
o
(=) o
T T
1 1
o O
o IIIIIIIIIIIIII
= \

12 13 3 4
1 2 Dr=35%

-327 -



N

IIIIIIIIIII‘II IIII IIIII!IIIII

o
I
1
1
U1 O

R
o
S
=
1
[y
o
o IIIIIIIIII LILLILI

= loolanlud

0 2 4 (6) 8 10 0
12 -3

= 4 B0 BO

=1 o] Bo

| | 80 BO

e E -
1000 15¢ — =
T T T T T T T T E T T T T T T T 3
- ] =1 3_/ o'\ 0=3.5kPa 3
0 — & E =
i 1 7 5E T 4
1000 1 | 1 | 1 | 1 | 1 0 E | 1 | 1 | 1 | —
1000 T T T T T T T |- 4 15 E 3
i 7 10 —
or—MMANI-——— s 3
1000 1 | 1 | 1 | 1 | 1 0 E =

0 2 4 6 8 10 0 10
()
13 -4
Stepl 14 3
3 37cm
t=8
2 3 15
1 3 1 3

-328 -



14

Dr=90%

15cm

—ANM
L1 1 1 _ L1 11 _ L1 1 1 _ 11
o [Te] — [Te}
o —
(w)-19
LI _ LI _ LI _ LI
—ANM
L1 1 1 _ L1 11 _ L1 1 1 _ 11
o [Te] — [Te}
o —
(w)-19
LI _ LI _ LI _ LI
| —ANM _
1 1 1 1 _ 1 1 L1 _ 1 1 1 1 _ 1 1
o [te} — [te}
o —

(w)-719

20

10

-10

-20

0.4

0.2

200 400  -0.2
(ue)

-200 0

-400

(kPa)

(kN)

15

-329 -



2) Case2-2

i)

16

Case2-1

54mm

101mm

Case2-1

|||||||

16

17

Case2-1

- | 2
l%ﬂxmo

20

———————————_——_——
—ANM

10

-10

_________________O

0 — )
o —

(W)-19

L T |

0.4

_________________

AN

0.2

_________________ 2
o ) — ) <
o —

(w)-719

o

_________________ m
—ANM

n g

— — O

N

— — o

o

— — O

N

\

_________________ w

© 1o — 0 ¥

o — —
(w)-719

(kPa)

(kN)

(ue)

17

ii)

-330-



18
Case2-1 Case2-3
14

18

14

500

IIIIIIIIII
lIIIIIIIII

'500 1 | 1 | 1 | 1 | 1
500 T T T T T T T T T

(gal)

o
LI LN
5
§

lIIIIIIIII

'500 1 | 1 | 1 | 1 | 1
500 ' I

IIIIIIIIII
lIIIIIIIII

-500 !

o
N
[e0]
[EEN
o

18

19 20 1 2
Case2-2 X
1 2 Dr=90%

Case2-1

Dr=35% Case2-1

20Hz

20Hz Case2-1

-331-



a
o & 5 :
= I
1000 T T . I ' ol B.Pi X :A17 e, i
Y] | e
A22 Ep6 !
L oo e |
_1000 1 ] 1 | 1 | 1 | 1 A23 P17 A ) /é_%ils_:
1000 — . . . . 15— . a —
- MMMMM MMMMMIM | 1  10E ot [ \p9.3Pa 3
0 = . .E E
g I | | | | 1€ 2 3 3
(=28 1 1 1 1 1 ~ 1 —
B g0 L 12 e :
! 1 10F 3
0 5 E 3
-1000 1 ] 1 ] 1 ] 1 ] 1 0 E —E
1000 T I T I T I T I T 15 E T I T I T I T I T E
oMY ] vt 3
| ] 5F o'yo=16.2kPa 3
-1000 1 | 1 | 1 | 1 | 1 1]= ) 1 | 1 | 1 | I
0 2 4 6 8 10 0 2 4 6 8 10
() ()
19 -1
DSEMD FE _Ag-i AL5 B
— AT B
= te,,
AL9 DO
A22 Epig )
A23 P17 A2 @ pis

/ —
s
7
/I

1000 T T T T T T T T T 15:
ol 1 1oE
I 1 5F
-1000 I | I | I | I | I O:
0 2 4 (6) 8 10 0 2
20 -2

-332 -



/‘*?“ o
~ AT
0.,
AL9 EI@
A22 [p16 )
A23 P17 A2l Fips

IIIIIIIIII!IIIII

1111 IIIIII‘II

10

(
21 -3
Damm[} B A8 <_Als [
A A2 @ EA ]
= e, T O,
A25 0, 17 oe,,
| oe AL9 D)@
la2
I pl"J| oe oe
/éﬂnj A7{:bp5q A2l [0 py5
1000 T T T T T T T T E |/ T T T T 3
o ’(‘5\10 %23.5kpa =
= 0 S 3
-1000 1 | 1 | 1 | 1 1 0]= } 1 | ——
1000 T T T T T T 15 E T T 3
- 10E-o'v0=6.2kPa 3
i 1 s AT 3
-1000 1 | 1 | 1 | 1 1 0 E ] 1 | T
0 2 6 10 0 2 4 6 8 10
() ()
22 -4
21 22 3 4
23 5
59cm Dr 35%
Casel-1 1.5

-333-



(kPa)

LI L LI _ LI _ LI m
o ©
—
XX
o - p—
% o
ﬁ N 4
o
= B %
L1 1 1 _ L1 1 1 _ L1 1 1 _ 11 (=}
= 0 — ) A
o —
(w)-719
<
LI _ LI _ LI _ LI O
= < 0 © 4
~
o = 4
i ._ L0
| \ —
Lo B .
| 1
\ \
! m n -
= e —
| i
“ __ 11 1 1 _ 11 1 1 _ L1 1 1 _ L1 2
“ i o e — 0 Q@
! i o —
! ! . .
Pl (w)-19
.._mll T ___——== < o
[ ET P 2 (q\] o
___ _,. LI _A—. FO —.0 LI _ LI _ LI b=
1 \ = -
A
\ ' | s
[} \ N
Vol L 17
\ i 0
§ i =% 1]
I ==
\ A i \ o — — 0
P | \
b ! \
4 ___ \\\w(\\\\ - -
\ ! A" o b=
\Lod-=" [QV - o
T P N
L- - i _
||||||||| L1 1 1 _ L1 1 1 _ L1 1 1 _ 11 w
I - °© 0 — w0 5
o —_. —
_ (w)-719
f

(kN)

-334-

(1e)

24



3) Case2-3

i)

25

100mm

Case2-1 Case2-2

60mm

25

26

Case2-2

o
_________________2
—ANM
—
— —o
o
— — <
1
--_--_--_-O
o 0 — © o
o —
(w)-719
<
--_--_--_-nv.
—A N M
o
IBIO
_________________n/_
IS 7 — ) B
o —
(w)-19
o
--_--_--_-m
—A N M
1] g
— —0
N
|\\MIO
o
— — O
N
1
_________________w
e ol = 0 v
o — —
(w)-19

(kPa)

(kN)

(ue)

26

-335-



27 y Case2-1 2-2 x
X
500F ' I ' | ' | ' ' -
0 ;————nwvvvvwvvv\/vwwvvvvvvwvvvwvwwwwvm f
-500F \ | \ | \ | \ | \ -
_g> 500 __ T | T | T | T | T __
oF ]
500 , | ]
500F | ' ! ' | E—
oF ]
'500 :_ 1 | 1 | 1 | 1 | 1 _:
0 2 4 6 8 10
()
27
28 29 -1 -2
1 Dr=35%
Dr=90%
Case2-1 2-2
2 t=3
t=3 t=3
Dr=90%
Dr 35%

-336 -



(gal)

1000 T T T T T T T T T
o ————
-1000 ] ] ] ] ] ] ] ] ]
1000 T I T I T I T I T 15 =
[ 1 10k
————WWAWWWWWWIIWMAA- = ~ E
°r 1§ S5F
_}888 L l L l L l L l L < oE
T T T T T T T T T 15 E
r ] 10
0 ——— iy 3
-1000 i ] | ] | ] | ] | ] ] 0 E
1000 T I T I T I T I T 15 E
[ 1 10f
o — %
_1000 [ 1 | 1 | 1 | 1 | 1 i O E
0 2 4 6 8 10 0
()
28 1
Daﬁ AL I _/-\s-i AlS (@
= | !
1000 oo A1 o,
T T T T T T T T T s A |
o —/ a8 B9 : be ,
0 —VWWVWVW\N\MMNVW\N»»———Aé =) | Al De
L _ A22 E@p16 : 1 )
-1000 1 | 1 | 1 | 1 | 1 A23 E@P17 ATE _; A2 E@pss
1000 ———F——F7——7——T1— 15€ T
[ 1 10F
0 ———WMAMMAMMMAMAMMASS e T E
E I ! ! ! | 1€ (5) 3
(=2 1 1 1 1 1 ~—
= }888 T I T I T I T I T 15 =
[ 1 10F
_1000 [ 1 | 1 | 1 | 1 | 1 i 0 E
1000 T I T I T I T I T 15 =
! 1 10E
o
_1000 i 1 | 1 | 1 | 1 | 1 | 0 E
0 2 4 6 8 10 0
()
29

-337 -



(gal)

1000 T T T 3 AT R,
- ! ! —/ A25 1:\4 P| 17 [3.“2
0L e ] b -
L . A2 [@pg
-1000 SR — ' s o '72.; i D
[ [
1000 I T I T T 15 E T I T ~ I F T | T | T =
ol " AL 1 10F / ................. 3
=~ | 1T 5F 3
%_ | 1 ] 1 1 é 0 E " =
= ]:888 I u I T T 15 E 3
! 1 10F 3
O | V%nl'hﬂk" | __ 5 E_ _z
-1000 | ! | ! ! 0E =
1000 I T I T T 5 T
L 4 0
O -5
—“WWWWVWV\]WVW\}W\/W“““— -10 o',0=16.2kPa
10001 I . L
0 2 4 10 0 2 4 6 8 10
()
30
Daﬁ/\lm ’ESA—E"_ Al5 [
oo @@ @
- 0, AT,
A25 AA[:.PZ 17 oe, ,
=== [ ) AL 0
la2z
I ”4 ) )
1000 T I T E / I T I T I T I T =
- 1aS10Eo ¥#=3.5kPa =
O wwwwwn————— < s =
i 1 = 5F e =
-1000 PR R s P B
1000 T I T 15¢ 3
i 10E- =
O——WWW—————= sE E
-1000 R 0E =
0 4 10 0 10
(
31
30 31
Dr=90%
4

-338 -



59cm

32

\
1
1

/
7
/
7

T —— ol

32

8

t=

33

20

10

-10

—ANMm
11 1 1 _ 11 1 1 _ 11 1 1 _ 11
10 ~ 0
o —
(w19
LI _ LI _ LI _ LI
—ANM

-20

0.4

0.2

1 1 1 1 _ 1 L1 1 _ 1 1 1 1 _ 1 1
o To) — To)
o —
(w)-19
Ll Ll Ll Ll _ Ll LI Ll _ Ll Ll Ll Ll _ Ll Ll
| —ANM i
L1 1 1 _ L1 1 1 _ L1 1 1 _ 11
o Te} — To)
S (w79 -

200 400  -0.2
(ue)

-200 0

-400

(kPa)

(kN)

33

-339-



4)

i)
34 H14
H14
H14 33cm
90cm 5cm
390mm 510mm
140mm Casel-2 400mm Case2-1
H14 Case2-1 500mm
Case2-2 Case 2-3
50mm
50mm
34 Case2-2 Case 2-3
E 600 ; ;
£ |m
400}
200}
0
0
E 600 T
SN0
400}
200}
0
0
i)

Case2-1 Case 2-2

Case2-1 Case 2-2

- 340 -



35

Case2-2 t=1.8 t=2.6
Case2-1
t=2.6 t=3.9 400gal
Case2-2 1.7 t=3.9
5.1 200gal Case2-2 1.2
400gal Case2-2 2
~ 600 . . . | . I .
S
£ i Case2-2 W_Jiw
400} ] -
B ﬂ Case2-1 .
200+ —
0 ! | \ -
0 8 10
g 400__ T T T T __
~ 200F -
O_ -
-200_— ]
-400— 1 1 | 1 —
0 8 10
35
iii)
Case2-3 Casel-1
Case2-3 170kg
7.0Hz Casez2-1 21.6kg 14Hz
36 1

- 14Hz Casel-1
7Hz(Case2-3)

- 341 -



ase2-3

(gal)

' W “NHHN
W=

- 342 -



Casel-1

Case2-3

Case2-3

Case2-3

Case2-3

G.L.-0.4m

Case2-3

39

180<

5Hz

THz

5Hz

H14

o
=
0_ — <t T
dJn
|2|
1
i ™
! 1
! IS
| [«§]
| [72]
! C
i @)
i I
o o o
= = %
(Wiw)

39

- 343 -



39 t=2.5 1=3.8
G.L.-0.4m 6.4kPa
24kPa @’'=35< 30kPa

40

_60 I 11 11 I 11 11 I 11

40 3 G.L.-0.4m Case2-3

- 344 -



(d)

1)

2)
3)

4)

5)

®

27

Vol.

2003.12

58

2003.9

(9
D

2)

3)

- 345 -




©)

16

- 346 -

14

15





